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| 2. Hakeem, Inc. reported the following data in its 2011 financial Statements: total liabilities $38,400; total
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1. Flute Corporation issued $200,000, 10-year, 9 percent bonds at a time when the market rate of interest

was 12 percent. These bonds will be issued for

a. $200,000

b. More than $200,000

c.  Less than $200,000

d.  Anunknown price; more information is needed

equity, $19,200; net income, $4,320; income tax expense, $2,880; and interest expense, $2,400. The times
interest earned ratio is

a. 4.0 times

b 1.8 times
C. 2.8 times
d

3.0 times

3. On January 1, 2012, Cabuki Corporation issued $500,000 of 10 percent, 10-year bonds at 88.5. Interest
is payable on December 31. If the market rate of interest was 12 percent at the time the bonds were issued,

how much was interest expense in 2012 (assuming Cabuki uses the effective-interest amortization

method)?
a.  $44,250
b.  $50,000
c.  $53,100
d.  $60,000

4. On January 1, 2012, Georgi Company was authorized to issue 10,000 shares of $2 par common stock
and 5,000 shares of $5 preferred stock. Given this information, if Georgi Company issued 2,000 shares of
common stock (with no known market value) for land with a book value of $15,000 (market value
$10,000), the entry to record the transaction would include a |

a.  Debit to Land of $10,000

b Credit to Common Stock of $15,000 :

C. Credit to Paid-In Capital in Excess of Par, Common Stock of $11,000

d.  Debit to Land of $15,000 |

5. Moony Corporation had 20,000 shares of $4 par-value common stock outstanding on January 1, 2012.
On January 10, 2012, the firm purchased 2,000 of its outstanding shares for $18 per share. On July 22,

2012, it reissued 1,000 shares at $22 per share. Given this information, the entry to record the reissuance
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of the stock on July 22 would include a credit to
a.  Treasury Stock of $4,000
b Common Stock of $4,000
c.  Paid-In Capital, $18,000
d Paid-In Capital, Treasury Stock of $4,000

6. On December 31, the trial balance of Cubico Company included the following accounts with debit
balances: | |
Prepaid Advertising $1,500 | Advertising Expense  $5,400

If it is determined that the cost of advertising applicable to future periods is $3,300, the correct adjusting
entry would _

a.  Debit Advertising Expense $3,300; credit Prepaid Advertising $3,300

b Debit Prepaid Advertising $1,800; credit Advertising Expense $1,800

C. Debit Advertising Expense $1,800; credit Prepaid Advertising $1,800

d Debit Prepaid Advertising $3,300; credit Advertising Expense $3,300

7. Wilbur Company's monthly bank statement showed an ending balance of $36,928. The bank
reconciliation included a deposit in transit, $3,274; outstanding checks, $4,340; an "NSF" check, $1,576; a
bank service charge, $50; and proceeds of a customer's note collected by the bank, $4,600. The correct
cash balance at the end of the month is

a. $40,462
b $40,202
c. $37,484
d $35,862

8.0nJ anuary 1, 2011, Heather Locks Corporation purchased drilling equipment for $11,500. The
equipment has an estimated useful life of 4 years and a salvage value of $200. Given this information, if
Heather uses the double-declining-balance method of depreciation and sells the equipment on December
31, 2012, for $3,000, it will have a

a. $2,750 loss

b $1,800 loss
c. $1,562 gain
d $125 gain

9. On January 2, 2012, Forsyih Co. acquired 4,000 shares of Hiram Company common stock for $44,000
and classified these shares as available-for-sale financial assets. During 2012, Forsyth received $12,000 of

cash dividends. The fair value of Hiram's stock on December 31, 2012, was $14 per share. Forsyth should
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report the following amount in 2012 related to Hiram Co.
a. Revenue of $12,000

b Revenue of $24,000
C. A $56,000 decrease in the investment account
d A $56,000 increase in the investment account
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